& (5 =4
CMS 54 555,0008
o 32 26,606,710%
= 86 27,161,800
= 730 127,376,644

2. $UE o0y
] RAFRIBZH, A4, 4,

20228008 coma) msmmME, cuior
47 2,132 8,406,000
=7 48,946 722,751,896



3. 293 Argue

AEUS =

CMS == O[A| 66,860&

9 /A= =z Xl= 756,800%
HIX|[E=Z 27| =H| Tidh| 5,433,480
AEro|Hnl ZEALY 'EHEF AL 1,917,250&

MK MH[A LT =25 7Y 303,600

Lolole WA S| 300,000#
7182 Argh| 2,190,150&

HfXf2| ZitH| 308,000

MEHA[T] XF2IS AL A 526,200#
o|Y=2= ArgH| 1,485,000

=241 of7HH|O] ArgH| 476,000&

'22HOn:5h) ZENE' AIEH] 116,800&

=20z X3 AFH] 212,100

ST Al 150,000#

HIX[EZ=RZ Al 178,000




